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BACHELOR'S DEGREE PROGRAMME (BDP) 
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cp 

FST-01 : FOUNDATION COURSE IN SCIENCE 
AND TECHNOLOGY 

Time : 3 hours 	 Maximum Marks : 100 

Note : All questions of Section-A are compulsory. In Sections- 

B and C give answers as per instructions given. 

SECTION-A 
Fill in the blanks : 

	

1. 	(a) 	 discovered circulation of blood 
in the human body. 

(b) Scurvy is a disease caused by deficiency of 

(c) 	system in our body protects us 
from invading germs. 

(d) 	 are producers. 
(e) Wind is a 	 source of energy. 

	

2. 	State if the following statements are true (T) or 
false (F) : 
(a) The innermost layer of the atmosphere is 

Troposphere. 
(b) Method of science is based on the 

speculations prevalent in the society. 
(c) Man can occupy second or third trophic 

level in a food-chain. 
(d) Oil is a non-renewable source of energy. 
(e) AIDS is caused by bacteria. 

5 

5 
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3. 	Give short answers for the following questions 	10 
(not more than 50 words) : 
(a) What is meant by essential amino acids ? 
(b) What is an artificial satellite ? 
(c) Photochemical smog 
(d) Ergonomics 
(e) Bio-technology 

SECTION-B 
Note : Answer any eight questions. Limit your 
answer to 100 words for each question : 

4. 

	

	Briefly explain the impacts of Miller's experiment 
	

5 
on the classical theories of origin of life. 

5. 	Explain the water cycle with the help of a 	5 
diagram only. 

6. 	What were the different methods of production 	5 
used by the primitive society and the Bronze age 
civilization ? 

7. 	What are the conditions that determine whether 	5 
the fruits of science are used for human good or 
for distructive purposes ? 

8. 	What features in Indian society led to the decline 	5 
of science in the post-Gupta period ? 

9. 	How can saline and alkaline soils be reclaimed ? 	5 

10. What is carbon dating ? How is the age of fossils 	5 
determined ? 

11. List the different ways of technology transfer. 	5 
Briefly describe any one of them. 

12. Oceans are known as the largest and thickest 	5 
ecosystems. Justify this statement. 

FST-01 	 2 



13. Write short notes (Any two) 	 5 
(a) Big Bang 
(b) Hormones 
(c) Non-renewable source of energy 

SECTION-C 
Note : Answer any four questions. Limit your 

answer up to 200 words for each question : 
14. Explain the theory of natural selection as 10 

proposed by Darwin. 

15. What are infectious diseases ? Name any two 10 
diseases caused by bacteria and give their 
symptoms and preventions also. 

16. Methodology of reward and punishment helps in 10 
learning process. Discuss. 

17. Briefly discuss the advances in the areas of science 10 
in India during Iron-Age. 

18. Discuss the impact of increasing population on 10 
environment. 

19. Describe the role of television in creating 	10 
awareness In India. 
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